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6|7 PV Y AR BE DAL A | meg/L | 200 — — 7 — —
37|~ > H v K Y% O At & | me/L | 0.05 — — 0.005A1i — —
sl b W a4 A | mg/L | 200 7 7 6 6 7
vy s, v~ xry a5 (EE)| mg/L | 300 — — 23 — —
40 |7 7 53 o Y| mg/L | 500 — — 58 — —
418 4 4 v K om IE M Al me/L | 0.2 — — 0.02A i — —
42 |¥ = 7 A 2 >| mg/L | 000001 — 0.000001 4| 0.00000 1445 | 0.000001 47| 0.000002
4312 — AF Vv A4 YV KR )V x4 — J| meg/L | 0.00001 — 0.000001 K75 | 0.000001 i | 0.00000 1A | 0.00000 1 AT
4401 4 A v F om I M Al me/L | 0.02 — — 0.002Ai — —
4517 = o~ — o #| me/L | 0.005 — — 0.0005 A7t — —
4615 ¥ w ( TOC » & )| mgL | 3 0.4 0.4 0.4 0.4 0.4
47 o H fil RN B 7.4 7.3 7.3 7.2
48 b PG BEeL | BEeL | BEeL | BEeL | BEeL
49 |5 £y L BEaL | mEARL | BEARL | BEARL | BERL
50 | Bl OE 5 1A i IS LA 1A 1A
51 | REl O 2 0.1 | 0.1 | 0.1 | 0.1KRW | 0.1

% & i #| me/L [onik 0.4 0.3 0.3 0.3 0.3




AIETH B FAERAS IR E AT - OKE AR )
wen A G B ACRTE — 5 4)

=
2N

D57 B B /K 5 R i fa

F07ABE

o om g 4 |w wmwew| 4938 | 5ASH | 6A3H | 7TA3H | 8ATH
1| % #H L | 100 0 0 0 0 0
2 B PHED s | Bitan 3 | BiEn | iEh 3 [ isn$
S RIv AR XE O A W me/L | 0.003 — — 0.0003 A3 — —

4 |k £ K O = ®© b A& | me/L | 0.0005 — — 0.00005 A — —
5l L v & % ok & W me/L | 0.01 — — 0.001 A — —
65 X O = o b A | megL | 0.01 — — 0.001 A — —
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — — 0.00 1A — —
8N i 2 = & b & | me/L | 0.02 — — 0.002 i — —
9 [® 4§ B e = H| mgL | 0.04 — — 0.004 A i — —
W07 b4 ROy 7| mg/L | 0.01 — — 0.00 1A — —
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — — 1.3 — —
1217 v % K 00 % o b & % mgL | 0.8 — — 0.32 — —
13l 7 #F Kk O 0k & % mgL | 1.0 — — 0. 1A i — —
14| i} 1t R F| me/L | 0.002 — — 0.0002 i — —
151,4- ¥ £ % ¥ mgL | 0.05 — — 0.005 A i — —
16|72 T Y] me [ 0.0 — — o004k | — —
171 7 0w v A % v mg/L | 0.02 — — 0.002 A7 — —
18| F 9 7 v v = F L ¥ mgL |0.01 — — 0.001 7 — —
9| V 7 B 8 = F L o mgL |0.01 — — 0.001 Vi — —
20 [~ v + | me/L | 0.01 — — 0.001 Al — —
21 |4 e W me/L | 0.6 — — 0.06 A7 — —
22 |7 = = e | me/L | 0.02 — — 0.002 A — —
27 v 9w & v A mgL |0.06 — — 0.005 — —
24l 27 9w w  EE Bl mg/L | 0.03 — — 0.003 A i — —
251 7 v ® 7/ mom A X v mg/L | 0.1 — — 0.001 — —
26 [ = £ k| me/L | 0.01 — — 0.00 1 A ¥ — —
oThe U v = 2 & | mgL | 0.1 — — 0.008 — —
28I U 7 v v EE | me/L | 0.03 — — 0.004 — —
297 v = ¥ 27 v u 2% o me/l |0.03 — — 0.002 — —
307 w = A& A A mg/L | 0.09 — — 0.001 ATif — —
31f&x & 7 A F v K| mgL |0.08 — — 0.008 AT — —
208 4 K O F o b & W meL | 1.0 — — 0.05A i — —
BT A= AR BEDOAA Y mgL | 0.2 — — 0.02 A7 — —
M k ™ = o b & W meg/L | 0.3 — — 0.03 ATt — —
Bl Kk ™ o b & | me/L | 1.0 — — 0.05 A — —
367 RV Y A K E DAL A W] meL | 200 — — 7 — —
37|l v H v K OV % @ ft & | me/L | 0.05 — — 0.005 i — —
38l b w4 A | mgL | 200 7 7 7 8 8
9Py on, v 7 xvr % (HE) mg/L 300 — — 37 — —
40 |74 7 b33 ¥ ¥ me/L | 500 — — 80 — —
41k 4 A4 v / om & M Al me/L | 0.2 — — 0.02ii — —
42 1> - 7 2 2 | mg/L | o0.00001 — — 0.000001 A ¥ — —
4312 — AF L A4 VR )L % F — | mg/L | 0.00001 — — 0.000001 A3 — —
4418 4 A v/ om o3& M Al me/L | 0.02 — — 0.002 A i — —
4517 = o, — o | me/L | 0.005 — — 0.0005 A7 — —
46|H5 H  ( TOC © & )| mg/L 3 0.4 0.3 0.5 0.4 0.3
47 o H fit oy 7.3 7.0 6.9 6.7 6.8
48 S O BERL | BERL | BERL | BERL | BEL
49 | = & SO BEeL | BEL | BEALL | BEeL | BERL
50 | Bl OB 5 IEST 1A i 1A i 1A i 1A i
51 | O 2 0.1 | 0.1 | 0.1 | 0.1 | 0.1AK7W

% 5 i #| me/L |0tk 0.4 0.3 0.3 0.2 0.2




A b T RGEIA TR EET- OB )
JFUKRBR RS A (AT K5 Rt — Bk %)

&wE E E 4| B L 10 7 SRhi ¥ &
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i fig = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 v A 7 v 7t Rl mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — v Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =

10 7 i
NI ( 5 = oA )
Hik & M 3 i 100mL 1}
10 7 SEhi ¥ 7E
7 UV 7 b 2K U Y U A
v 7 % v 7




A b T RGEIA TR EET- OB )
JFUK R RG A (R K5 %t —

7K )

BRNTHE
&wE E E 4| B L 10 7 SRhi ¥ &
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i fig = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 v A 7 v 7t Rl mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
4A15H TH15H 10 H St ¥ 7€ DS ipig
NI ( 5 = oA ) mEng S 7
i & M 3 Jied 100mL 17 0 0

7 UV 7 b 2 K U ¥ U A

DX e % % 7




A6 B T AKREEASTBE T OKE RS E)
1 K 5 Rt — HT A 7K I Hit)

JR KRB A (e

RN
Fl A H % H AL 10 H ST &
1| — fix il ImlH
2| K i
3l WK I v A K OZF O A % | mg/L
40 & 8/ Xk O % O b A& ¥ | mg/L
5l v v kB %2 o b & ¥ | mg/L
6 6 X O = o b B ¥ | mg/L
e £ K OO % o b A B meg/L
g M8 2 o= & fb A& ¥ mg/L
9 |& fiF§ %4 R £ | me/L
07 e 44 > k O T mg/L
11| B2 fig %= F Kk OV # M B # = FE| mg/L
217 v F k ™ % o 1 & # mg/L
B v £ kK ® = o k& ¥ mg/L
14 i) 1t R | me/L
15 |1,4- ¥ v * A >| mg/L
W 2L T T T
17l 7 = = A o > mg/L
8l ¢~ 2 7 v v = F L | mg/L
o v - v w = F L Y| mg/L
20 |% NG £ ~| mg/L
21 | K fiz| mg/L
22 |7 = = i Wzl me/L
23 |7 = = AN JL 2| mg/L
24 |¥ % = = e | mg/L
25 7w ® 7 m om X 2 v mg/L
26 | & e fiz| mg/L
27 |ia l\ ) N m A i > mg/L
28 |k ) 7 = = Wk fiz| mg/L
2917 »n = ¥ 7 v v A % v mg/L
30 |7 =: E N v A mg/L
31|~ » 7 o  F Kl mg/lL
20 K O 2 o f A& W mg/L
BT ArI=9 sk ®ZE oG P mg/L
M £ = o b & | mg/L
3B Kk O & o fb & W mg/L
6|17 MU v oA KW ZE O b A ¥ mg/L
3Nl v v kO % o b A& ¥ mg/L
38 |¥ 1t 7 A 7 Y| mg/L
9w a, v 7 xv v an% (M E) mg/L
40 |7 38 5% 4 Y| mg/L
4112 4 A~ A om & M Al me/L
42 |2 o vin A N ~| mg/L
312 — 2 F » 4 Y K" N 3 A4 — )| mg/L
40k 4 F o K om i M A mg/L
45 |7 - J — % | mg/L
4615 W O ( TOC o B )| mg/L
47 Ip H fiE
48 IS
49 | & £
50 | gl E
51 [ gl E
10 7 32 ¥ &
NI ( & 1% oA )
B = P 3 el 100mLH
7 UV 7 b A2 R U Y U A
A 7 JL v 7




Ly L T A ER A TS T - O E B )

KBRS (e

1 K SR —

BEFE R 1K HE)

BRNTHE

&wE E E 4| B L 10 7 SRhi ¥ &

Ly — i il ImlH

2| K 1

3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
9 | fil§ 1% A& £ | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il

48 IS

49 |2 £

50 | & gl K
51 | Bl =

10 A S ¥ &
NI ( 5 = oA )
Hik & M 3 i 100mL 1}

7 UV 7 b 2 K U ¥ U A

DX e % % 7




Ly L T A ER A TS T - O E B )

KBRS (e

1 K SR —

BEFE R 27K R M)

BRNTHE

&wE E E 4| B L 10 7 SRhi ¥ &

Ly — i il ImlH

2| K 1

3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
9 | fil§ 1% A& £ | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il

48 IS

49 |2 £

50 | & gl K
51 | Bl =

10 A S ¥ &
NI ( 5 = oA )
Hik & M 3 i 100mL 1}

7 UV 7 b 2 K U ¥ U A

DX e % % 7




Ly L T A ER A TS T - O E B )

JRAERER S A (B K SRt —

A

VK )

BRNTHE
&wE E E 4| B L 10 7 SRhi ¥ &
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i fig = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 v A 7 v 7t Rl mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
4A15H TH15H 10 H St ¥ 7€ DS ipig
NI ( 5 = oA ) mEng S 7
i & M 3 Jied 100mL 17 0 0

7 UV 7 b 2 K U ¥ U A

DX e % % 7




A b T RGEIA TR EET- OB )
JFUKGRBR G A (I K 5 R0 — IR K E5)

BRNTHE
el W H 4 A 9 H FEhi T iE
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
9 | fil§ 1% A& £ | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
9 A it T &
NI ( 5 = oA )
Hik & M 3 i 100mL 1}
10 7 SEhi ¥ 7E
7 UV 7 b 2 K U Y U A
v 7 % v 7




S T ARGEE A TR - KBRS )
JFUKERG A G BB K%

W — R K )

RN
Fl A H % H AL 9 H FEhti T E
1 — fix il LmlH
2| K i
3l WK I v A K OZF O A % | mg/L
40 & 8/ Xk O % O b A& ¥ | mg/L
5l v v kB %2 o b & ¥ | mg/L
6 6 X O = o b B ¥ | mg/L
e £ K OO % o b A B meg/L
g M8 2 o= & fb A& ¥ mg/L
9 |& fiF§ %4 R £ | me/L
07 e 44 > k O T mg/L
11| B2 fig %= F Kk OV # M B # = FE| mg/L
217 v F k ™ % o 1 & # mg/L
B v £ kK ® = o k& ¥ mg/L
14 i) 1t R | me/L
15 |1,4- ¥ v * A >| mg/L
I D
17l 7 = = A o > mg/L
8l ¢~ 2 7 v v = F L | mg/L
o v - v w = F L Y| mg/L
20 |% NG £ ~| mg/L
21 | K fiz| mg/L
22 |7 = = i Wzl me/L
23 |7 = = AN JL 2| mg/L
24 |¥ % = = e | mg/L
25 7w ® 7 m om X 2 v mg/L
26 | & e fiz| mg/L
27 |ia l\ ) N m A i > mg/L
28 |k ) 7 = = Wk fiz| mg/L
2917 »n = ¥ 7 v v A % v mg/L
30 |7 =: E N v A mg/L
31|~ » 7 o  F Kl mg/lL
20 K O 2 o f A& W mg/L
BT ArI=9 sk ®ZE oG P mg/L
M £ = o b & | mg/L
3B Kk O & o fb & W mg/L
6|17 MU v oA KW ZE O b A ¥ mg/L
3Nl v v kO % o b A& ¥ mg/L
38 |¥ 1t 7 A 7 Y| mg/L
9w a, v 7 xv v an% (M E) mg/L
40 |7 38 5% 4 Y| mg/L
4112 4 A~ A om & M Al me/L
42 |2 o vin A N ~| mg/L
312 — 2 F » 4 Y K" N 3 A4 — )| mg/L
40k 4 F o K om i M A mg/L
45 |7 - J — % | mg/L
4615 W O ( TOC o B )| mg/L
47 Ip H fiE
48 IS
49 | & £
50 | gl E
51 [ gl E
9 H Fhi T iE
NI ( & 1% oA )
- S A O 100mL
10 7 Sy 7E
7 UV 7 b A2 R U Y U A
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